H £ O & A &

=

Al A

20253 & 204 LBHSIH OIS
£A: 0IMH
M FOKXIANLE 0ot HEFA
Sl UXIAIHE S8t MENXBE 2& (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OlA™ 1,368,502 1,173,504 194,998
FUXXIAIUNE S0t dEFH 882,057 719,902 162,155
NAXIANUE Set AdATXIHE =& 882,057 719,902 162,155
SH HEFA 872,517 701,812 170,705
101 2124l 110,587 145,722 A35,135
M IIZINZ22 NS Es 110,587 145,722 A35,135
O otHYY A=012 8,704
|23 80,2403 x1H 80! 6,420
-Rasdsg 80,2403« 116! 1,284
A28 = 250,000 1 %43 1,000
O 382Xl H=&Y CIL2(M=I| AIR)
175,2003 *4 B x4 2,804
O 0IM™ 2&JH| o= 30,456
-Jl23 10,030 & *5A| 2+*x3H 180 27,081
A28 = 125,000&*3H 9 3,375
O 0IMY M=&Y R2(E2, YSH,
SHAITZAl) 23,623
|23 75,2002 x4 B 1424 x23| 19,623
A2 = 250,000 x4 H+2 & x23| 4,000
O 272 2EXelAtY eIf 45,000
201 B2 AL 43,180 49,620 6,440
01 A=R2teld| 12,560 9,000 3,560
O 3=24&4a g2l 1,000
O tiZE 32t (7 B2AXA) =4 L 2g
1,000,000 43| 4,000
O &1l oM ze| 2
300,000& =123 3,600
O HESKIHEH, AT Al DRAMEH 201
AHIAAY Haisaz
330,000& 12 3,960
02 324l 30,620 30,620 0
O ZEX SNE4H| (LEX, ELE4) 27,000
O U&= x| (AT3) 1,620
O HDIEME 2e= 2,000
206 =4l 32,670 36,910 A4,240
01 =l 32,670 36,910 AN4,240
O SHHEAE RFFA(FLR)
1,600 %950 £ 1,520
O slAYYE 287U(ER)
1,400 %1,100 £ 1,540
O H=&g =& M=l
1,000,000 23| 2,000
O MHEES =8 HIE L EWM Otth
- 8, 1003 *1007H4 810
O 272 UA™IAE =4I 25,000
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fAM: 0INH
ZH: FOINAADE S0 #YET
Sl NXIAIGE S8 dAXHHE =& (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O g 29 2579
150,000& * 12 1,800
301 EtE2 NS 491,630 409,110 82,520
07 S8 -0 - 2HHES2d3 407,030 314,630 92,400
O o1=¢ 400,000 66 * 122 316,800
(ORUESFSIGE, 400, 0002 66 <22 52,800
O 01&slo| &M
20,0002 x66 & 23| * 12 31,680
O ¢&=g 25,0002 x 11523 5,750
14 0Bt 243 84,600 69,480 15,120
O DRl £20| ¢
30,0003 x252 « 128 9,000
O RUHIH 3AEH =2
100,000 x63E « 12& 75,600
401 AIZHIZ S0 194,000 60,000 134,000
01 Al&H| 194,000 60,000 134,000
O FoEe & SsBNAAY 180,000
O OIME SIgI| W) &X| 3,000
O ONHAI=SXNHE =728 AH S 11,000
405 AHAHE S 450 450
02 A bl 450 450
A REFNE &N 7 450
Asgdgiizd 9,540 9,540 0
301 EtE N = 9,540 9,540
06 HELHUHAEIXZ 9,540 9,540
O =Z0rAll| 4,000 ~4E*300& 4,800
O AIR4 HzH 10,0002+ 150! 1,500
O AMR4 JJIes 25,0002~ 12& 300
O AR4 dates 15,0002« 12 180
O &g FAldl 150,000& * 12 1,800
O 22378l 80,0002 122 960
Y2 HAHI(0IMY) 411,745 388,502 23,243
Jl=3H| 411,745 388,502 23,243
Jl= &l 411,745 388,502 23,243
201 Ler23| 349,825 327,542 22,283
01 At2teltl 39,825 21,212 18,613
O At=2telt] 44,250,000& *90/100 39,825
02 S3=gHl 310,000 306,330 3,670
O 33&3gH| 310,000
202 04| 47,620 46,660 960
01 =LHOLI 1,540 4,420 22,880
O AIH=Z0oH 100, 000:& x22& x70/100 1,540
02 XN 46,080 42,240 3,840
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© OIS
D HASHAH| (0|4 H)

SoT oo

+ =3 (EHol: &9)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O Fooib) (Lera)
160,00021x22%4 « 122 42,240
O Fooitl (22X)
160,000 x2F 122 3,840
203 AR F=&lH| 14,300 14,300
01 J| 22 RS 8,000 8,000
O Jl22g JRF&| 8,000
02 MR FAIL| 1,320 1,320 0
O HAI4 LLETY)
40,0003 +33H 1,320
M MBI HRFA| 4,980 4,980 0
O BM2Y gR2F&d|
415,000+ 128 4,980
QIXXIME 29 74,700 65,100 9,600
OIM FOIXXINE 2Z 74,700 65,100 9,600
OlA FQIXXIME 22 74,700 65,100 9,600
201 B2 AY| 8,100 8,100 0
01 At=22teld| 6,600 6,600 0
O OIMFRIRIME 2¢ A2B2lY
500,000 122 %90/100 5,400
dott 29 100,000& x 12& 1,200
22| 1,500 1,500 0
OIA =2IXXIHEH SS29H| 1,500
SRS = 66,600 57,000 9,600
[EtE A= 66,600 57,000 9,600
O ZE20d82F ZAY
60,0002 *10E +83| * 123 57,600
O FEUXXRAJAE U224
250,000 =123 3,000
O =KX sl &s =
20,0003 *25 +12& 6,000
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